exampundit
GOVT. OF NCT OF DELHI

Delhi Subordinate Services Selection Board
FC-18, Institutional Area, Karkardooma, Delhi - 110092,

Wt e e v www.dsssb.delhigovt.nic.in
|Participant ID eesimpdndit
Participant Name (e T camoinati]
Test Center Name iON Digital Zone iDZ 2 Sector 62
Test Date 25/08/2019
Test Time 8:30 AM - 10:30 AM
Subject ILOWER DIVISION CLERK

Q.1 Select the term that will come next in the following series.

A1,D4, 19, P16, Y25, J36,
Ans X 1. x49

75 2.v49
/X 3.U49
of 4 wao

Question ID : 5459279497 ]

Q.2 Select the term that will come next in the following series.

ABC, FGH, KLM, PQR,
Ans X1 TUW

X 2. vwx
o 3.uvw
X 4.TUV

Question ID : 5459279495 ]

Q.3 Select the term that will come next in the following series.

AIB'FIOIE’_

Ans ?‘U-E
X 2F
V3D
X ac

Question ID : 5459279496

Q.4 Select the set of words that are analogous to the given set of words.

Drawer : Wardrobe : Room
Ans




( 1. Thread : Needle : Machine
X 2. CD: Floppy : Drive
x 3. Lace : Left Shoe : Right Shoe

X 4. Spoon : Fork : Knife

Question ID : 5459279500

Q.5 Ifin a certain code, BROOM is coded as EURRP, then how is EURRP coded?
Ans X" 1 HXVVS

#< 2.GXuUs

o 3. Hxuus

#< 4. HXUUR

Question ID : 5459279505

Q.6 In the given options 3 pair of words are similarly related and one pair is differently related.
Find the pair which is differently related.

Ans X" 1 Bat: Ball

J 2. Disk: Floppy
x 3. Cup: Saucer

x 4. Remote: Battery

Question ID : 5459279499

Q.7 A,B,C,D, EandF are 6 people in a meeting. A and D are from Chennai while the others are
from Mumbai. B and D are tall while the others are short. B, C and E are males while A, D
and F are females. Who is the tall male from Mumbai?

Ans X 1.C
X 2.A
5 3D
o 48

Question ID : 5459279509

Q.8 A woman says to another, you are the daughter of my husband' brother's mother's husband.
How are the women related?

Ans X' 1 Aunt

x 2. Daughter
o 3. Sister-in-law

x 4. Sister

Question ID : 5459279511

Q.9 Find the pair of words that is analogous to the given pair.

Tea : Coffee

Ans x 1. Doctor: Medicine

J 2. Laptop: Tablet




X 3. Bat: Ball

X 4. Door: Key

Question ID : 5459279501

Q.10 Six people are sitting in a garden with 3 of them facing the other 3. A is sitting to the north

of B whereas B is to the immediate west of C. E sits across F who sits to the east of C. In
what direction does D sit with respect to C?

Ans x 1. South
X 2. South-West

X 3. North-East

J 4. North

Question ID : 5459279510

Q.11 X remembers that his mother's birthday falls after August 8th but before August 20th. His
sister, Y, remembers that her mother's birthday is after 18th August but before August 28th.

When is the mother's birthday?
Ans  of 1 43696

7 2.43697
/X 3.43695
75 4.43698

Question ID : 5459279507

Q.12 Select the set of words that are analogous to the given set of words.

Tea : Milk : Sugar
Ans X" 1. Milk : Sugar : Water

x 2. Maths : Hindi : English
x 3. Class : Cycles : Students

J 4. Story : Characters : Plots

Question ID : 5459279503

Q.13 If CAT = 60, DART = 1440, then how much is BART equal to?
Ans X" 1480

75 2.540
o 3720
75 4.360

Question ID : 5459279506

Q.14 According to the examination results of a class, X ranked 11th from the top and 30th from
the bottom amongst those who passed the examination. 6 students did not gave the
examination whereas 4 failed in it. How many students are there in the class?

Ans X" 1 49
X 2.51
W 3.50




X 4.52

Question ID : 5459279508

Q.15 The statements below are followed by two conclusions labelled | and Il . Assuming that the
information in the statements is true, even if it appears to be at variance with reality, decide
which conclusion(s) logically and definitely follow(s) from the information given in the
statements.

Statements:
All pencils are pens.
Some erasers are pencils.

Conclusions:

|. Some erasers are pens.
1. Some pens are erasers.

Ans X" 1. 0nly conclusion Il follows.
x 2. Neither conclusion | or Il follows.
J 3. Both conclusions | and Il follow.

x 4. Only conclusion | follows.

Question ID : 5459279512

Q.16 Which of the given options can be a part of the group to which the given words belong?

Nokia, Samsung, Apple
Ans  of 1 OnePlus

X 2. MacBook

75 3.iPad
X 4. Galaxy

Question ID : 5459279502

Q.17 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

Ans X" 1 Stumps
o 2. Player
75 3.Ball
/X 4.Bat

Question ID : 5459279498

Q.18 In a coding system, 1357 is coded as 2468. In the same system, how is 2468 coded as?
Ans  of 13579

/X 2.9357
/X 3.3571
/X 4.1357

Question ID : 5459279504

Q.19 Which two signs should be interchanged to make the below equation mathematically
correct?

18x6+9+3-25=5




Ans J 1%+

Question ID : 5459279514

Q.20 The statements below are followed by two assumptions labelled | and Il . Assuming that the
information in the statements is true, even if it appears to be at variance with reality, decide
which assumption(s) logically and definitely valid from the information given in the
statements.

Statements:

Some water is polluted.
Pollution is caused by dirt.
Assumptions:

I. People throw dirt in the water.
Il. Factories release dirt in the water.

Ans X 1. Neither assumptions are valid
x 2. Only assumption | is valid
( 3. Both assumptions are valid

x 4. Only assumption Il is valid

Question ID : 5459279513

Section : Mental Ability2

Q.1 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

Ans X 1125
o 2216
75 3.343
X 48

Question ID : 5459279517

Q.2 Out of the given number pairs, three are similar in a certain manner. However, one pair is
NOT like the other three. Select the pair which is different from the rest.

Ans & 1.0.39375

W 2.49:280
75 3.64:512
/X 4.25125

Question ID : 5459279519

Q.3 A piece of paper is folded and punched as shown below in the question figures. From the
given answer figures, indicate how it will appear when opened.




Ans

< 3

Question ID : 5459279533

Q.4 In the following figure, triangle represents chef, square represents fathers, circle represents
poets and rectangle represents Americans. Which set of letters represents fathers who are

Ans

poets?

X 1.1UKG
/X 2. FGK
75 3.JBKC
o 4. cKeD

Question ID : 5459279524

Q.5 Choose the option that can appropriately replace the '?'.




Question ID : 5459279522

Q.6 A man walks 50 m North, 30 m East and 50 m South. Lastly he walks 20 m West. In which

Ans

direction is he from the starting point?
x 1. North-East

x 2. South-West

“ 3. East
X 4. North

Question ID : 5459279526

Q.7 Find the set of numbers that is similar to the given set.

Ans

(5, 25, 75)
75 1.(8,64,96)
o 2.(4,16,48)
/< 3.(8,32,64)
75 4.(4,16,64)

Question ID : 5459279521

Q.8

Ans

Complete the following number series?

10000, 2000, 800, 480, 384, 384,

of 146038
75 2.4508
/X 3.4408
75 4484

Question ID : 5459279515

Q.9 Find the incorrect term in the following series:

Ans

10, 10, 10, 20, 60, 240, 2400, 31200

o 1.240
/X 2.31200
/X 3.60
/K 4.20

Question ID : 5459279518

Q.10 Select the image that is related to the third image on the same basis as the second image is

related to the first image.




Ans

%
>V
B A<

OOP
©
POO

X
O® O
00
c® O

s
el

Question ID : 5459279529

Q.11 Choose the option which completes the series given in the question figure.

A O
» AM X ?
A

Ans Gﬁ'
<1 KV
<2 |

AN
p ™
e Vv
P
v | HA

Question ID : 5459279528

Q.12 In search of a treasure, a man roams around on an island. He starts by walking East for 8



kms and then goes South for 6 kms. There he finds the treasure and wants to go back to his
starting point. What is the shortest distance he should cover to reach the starting point?

Ans X" 1 6km

75 2.14km
/X 3.8km
o 4 10km

Question ID : 5459279527

Q.13 Choose the option that relates to the third term in the same way as the second term relates
to the first term.

21:28::42:?

Ans X' 135
X 2.49
/< 3.63
o 456

Question ID : 5459279520

Q.14 Which of the following cubes in the answer figure CANNOT be made based on the unfolded
cube in the question figure?

X

X

il i
WL

Ans

X 2

X 3

AR
1/




Question ID : 5459279531

Q.15 Which of the following Venn diagrams best represents the relationship between Rose,
flowers and Lily?

Ans

X4 |’“’W§.|

Question ID : 5459279525

Q.16 From the given answer figures, select the one in which the question figure is
hidden/embedded.

Ans

v

KK
K




X s [ vd

X 4

Question ID : 5459279532

Q.17 What is the minimum number of straight lines required to draw the given figure?

Ans

75110
212
< 3.9
Koan

Question ID : 5459279534

Q.18 Which of the numbers should be interchanged so as to make the equation correct?

Ans

49x7+14+25-27=0

X 1.27,14
o 214,49
/X 3.25,49
X 4.25,27

Question ID : 5459279516

Q.19 A figure series of 6 parts is given. Out these 4 parts are labelled A,B, C and D. One of these

4 parts is incorrect. Find the incorrect part.




I

I
m =1

I
- Il =

11

Ans x1_A
X 2.8
/5 3.D
W ic

Question ID : 5459279530

Q.20 Find the missing term in the following series:

2, 4,12, 2, 240, 1440, 10080

Ans  of 1 48
/X 2.30
/X 3.54
/X 4.36

Question ID : 5459279523

Section : General Awareness1

Q.1 Who presented the Interim Budget of 2019-20?
Ans X" 1. Amit Shah

X 2. Shanmukham Chetty

o 3. Piyush Goyal
X 4. Arun Jaitley

Question ID : 5459279541

Q.2 Atthe district level, Committee has been constituted to monitor Swachh
Bharat mission (Urban) activities.

Ans x 1. District Project Management
x 2. District High Powered
x 3. Designated Urban Local

( 4. District Level Review and Monitoring

Question ID : 5459279544

Q.3 Who is called the "Father of Green Revolution in India"?
Ans X" 1. Jawaharlal Nehru

x 2. Vikram Sarabhai
x 3. Bal Gangadhar Tilak

( 4. Mankombu Sambasivan Swaminathan




l Question ID : 5459279554

Q.4 Fusion of two gametes dissimilar in size, as in some species of Chlamydomonas is termed
as

Ans « 1. anisogamous
x 2. isogamous
X 3. zoospores

x 4. oogamous

Question ID : 5459279547

Q.5 Hornbill festival is celebrated from
Ans X" 1. 15th November

x 2. 12th December
x 3. st November

“ 4. 1st December

Question ID : 5459279538

Q.6 is a song used to mourn the death of the loved ones.
Ans  of 1 Banvarh

X 2. Mando
75 3. Fughri
x 4. Deknni

Question ID : 5459279536

Q.7 Mahabalipuram Rathas is situated along the shores of the
Ans “ 1. Bay of Bengal

x 2. Atlantic Ocean
x 3. Indian Ocean
x 4. Arabian Sea

Question ID : 5459279537

Q.8 Which among the following soils requires least use of fertilisers?
Ans X" 1 Laterite Soil

75 2. Black Soil
o 3. Alluvial Soil

75 4. Red Soil

Question ID : 5459279552

Q.9 The layer of very rare air above the mesosphere is called the
Ans X" 1. troposphere

x 2. stratosphere




x 3. exosphere
« 4. thermosphere

Question ID : 5459279545

Q.10 is a non-prescription drug used for relief from acid indigestion and heartburn.
Ans X" 1.Sodium Carbonate

( 2. Calcium Carbonate

x 3. Aspirin

x 4. Sodium Chloride

Question ID : 5459279543

Q.11 Keisabadi is a popular dance form of
Ans x 1. Kerala

x 2. Gujarat

X 3. Maharashtra

o 4. odisha

Question ID : 5459279535

Q.12 The present capital of Burma is
Ans « 1. Naypyidaw

x 2. Kathmandu

/5 3.Dhaka

x 4. Thimphu

Question ID : 5459279553

Q.13 The Sl unit of electric current is
Ans X" 1. candela

X 2. kelvin
« 3. ampere
X 4. mole

Question ID : 5459279542

Q.14 Which among the following is not an infectious viral disease?
Ans x 1. Mumps

x 2. Influenza
“ 3. Typhoid

x 4. Dengue

Question ID : 5459279549

Q.15 Godavari river originates from state.
Ans X" 1. Himachal Pradesh




« 2. Maharashtra
x 3. Karnataka
X 4. Madhya Pradesh

Question ID : 5459279551

Q.16 measures the market value of all final goods and services produced by a
country’s citizens or residents.

Ans X" 1. Net Domestic Product
x 2. Gross Domestic Product
“ 3. Gross National Product

x 4. Net National Product

Question ID : 5459279539

Q.17 is a water purification method that utilizes heat to collect pure water in the form
of vapour.

Ans  of 1 Distillation
x 2. Filtration
x 3. Chlorination

x 4. Boiling

Question ID : 5459279548

Q18 ___ s thelargest concrete gravity dam in Kerala.
Ans X" 1 Krishnarajasagar Dam

x 2. Indira Sagar Dam
x 3. Mettur Dam

« 4. Cheruthoni Dam

Question ID : 5459279550

Q.19 CAR stands for .
Ans X 1. Credit Adequacy ratio

“ 2. Capital Adequacy Ratio
x 3. Core Adequacy Ratio

x 4. Cash Adequacy Ratio

Question ID : 5459279540

Q.20 Taenia is an example of phylum.
Ans X' 1 Coelenterata

x 2. Porifera

( 3. Platyhelminthes

x 4. Ctenophora

Question ID : 5459279546




Section : General Awareness2

Q.1 Who is the first Indian sprinter to win gold medal in women’s 100m in World Universiade,
30th Summer University Games?

Ans x 1. Suresh Sathya
#< 2. Jata Shankar
x 3. Anand Shetty
( 4. Dutee Chand

Question ID : 5459279573

Q.2 Balwant Moreshwar Purandare received Padma Vibhusan in 2019 for his contribution in the
field of

Ans x 1. Art-Vocals-Folk
( 2. Art-Acting-Theatre
x 3. Public Affairs

x 4. Trade & Industry-Infrastructure

Question ID : 5459279567

Q.3 Ibrahim Lodi, the last Lodhi ruler, was defeated by
Ans x 1. Jahangir

( 2. Babur
75 3. litutmish

x 4. Humayun

Question ID : 5459279559

Q.4 of the Indian Constitution talks about the fundamental rights.
Ans X 1 Part|

o 2. Partill
/5 3.PartIv
/X 4. Part Vi

Question ID : 5459279568

Q.5 Guru Shikhar, the highest point of Rajasthan, lies on the
Ans X" 1 Eastern Ghats

x 2. Western Ghats
f 3. Aravalli Range

x 4. Karakoram Range

Question ID : 5459279555

Q.6 Who was the first woman president of Indian National Congress?
Ans J 1. Annie Besant




x 2. Sonia Gandhi
X 3. Indira Gandhi
75 4. Sarojini Naidu

Question ID : 5459279557

Q.7 won the Grammy Award 2019 for the best pop vocal album.
Ans x 1. David Byrne

x 2. Tony Bennett
x 3. Shawn Mendes

“ 4. Ariana Grande

Question ID : 5459279566

Q.8 Which among the following is not a Fundamental Right?
Ans X" 1 Right to Equality

X 2. Right against Exploitation
x 3. Right to Freedom

J 4. Right against Criminal Injustice

Question ID : 5459279569

Q.9 The headquarters of Food and Agricultural Organisation is located in
Ans X" 1. London

x 2. New York
x 3. Paris
J 4. Rome

Question ID : 5459279563

Q.10 People were gathered at Jallianwala Bagh in Amritsar to protest against arrest on Saifuddin
Kitchlew and Satyapal on

Ans  off 1 13th April 1919
75 2. 16th May 1921
/X 3.12th May 1918

75 4.15th April 1920

Question ID : 5459279556

Q.11 According to which Article of the Indian Constitution states that the State shall endeavour
to secure for the citizens a uniform civil code throughout the territory of India?

Ans X" 1 Article 55
#< 2. Article 40
x 3. Article 52

o 2. Article 44

Question ID : 5459279571




Q.12 Which among the following Indian boxer is nicknamed ‘Ahir boxer'?
Ans x 1. Akhil Kumar

x 2. Shiva Thapa
75 3. Vijender Singh
J 4. Vaibhav Yadav

Question ID : 5459279574

Q.13 Woomera, rocket launch station, is located in
Ans " 1 China

( 2. Australia
x 3. Russia
x 4.Iraq

Question ID : 5459279564

Q.14 Who was the founder of Utpala dynasty?
Ans x 1. Gopalavarman

x 2. Alakhana
J 3. Avantivarman

x 4. Sankaravarman

Question ID : 5459279558

Q.15 The Indian pair of G. Sathiyan and won bronze in Men's Doubles at World Tour
Platinum Australian Open Table Tennis 2019.

Ans X" 1. Soumyaijit Ghosh
( 2. Anthony Amalraj
x 3. Achanta Sharath Kamal

#< 4. srikanth Kidambi

Question ID : 5459279572

Q.16 , popularly known as ‘Ali Gauhar’, was defeated in the Battle of Buxar.
Ans X" 1. Bahadur Shah Il

75 2. Shah Alam |

75 3. Akbar Il

o 4. Shah Alam I

Question ID : 5459279561

Q.17 Who among the following Mughal Emperors built Moti Masjid?
Ans  of 1 ShahJahan

x 2. Akbar

x 3. Humayun

x 4. Babur




Question ID : 5459279560

Q.18 Vijay Ghat is the memorial of
Ans J 1. Lal Bahadur Shastri

x 2. Indira Gandhi
x 3. Jawaharlal Nehru

x 4. Mahatma Gandhi

Question ID : 5459279565

Q.19 Which among the following books were not written by Rabindranath Tagore?

Ans X" 1. The Post Office
x 2. Gardener

J 3. Magic Seeds

x 4. Gora

Question ID : 5459279562

Q.20 The constituent assembly adopted the national song on
Ans X" 1. July 22,1950

/X 2. March 25,1951
75 3.Jan 25,1952

o 4. Jan 24,1950

Question ID : 5459279570

Section : Arithmetic Ability1

Q.1 4 bikes can be bought at the same price instead of 3 cars. If the total price of 7 bikes and 5
cars is Rs 4100000, then what is the price of a bike?

Ans X" 1. Rs 240000
#< 2. Rs 60000
75 3.Rs 120000
o 4. Rs 300000

Question ID : 5459279582

Q.2 A car has to cover 125 kms in 5 hours. What will be the average speed of the car if it has
covered 90 kms in the first 3 hours?

Ans X" 1 28 km/h
#< 2.20km/h
o 3.25km/h
75 4.24km/h

Question ID : 5459279586




Q.3 A building has 2 elevators. X gets on one of them and Y on another. X takes the elevator
from the 2nd floor which goes up at 15 floors a minute. Y takes the elevator from 107th
floor which comes down at 20 floor a minute. At which floor do X and Y meet?

Ans  of 1 47
/X 2.46
/X 3.48
/X 4.45

Question ID : 5459279577

Q.4 The area of a square increase by 69 percent when the side is increased. Find the increase in
the side of the square.

Ans X" 1.27.50 percent
X 2.32.50 percent
x 3. 25 percent

( 4. 30 percent

Question ID : 5459279588

Q.5 Convert 48 decimal to binary.
Ans " 1.101110

o 2. 110000
75 3.101000
7% 4.101100

Question ID : 5459279575

Q.6 X sells goods to Y at a profit of 20 percent and Y sells the same goods to Z at a profit of 50
percent. If the cost price for Z is Rs 9000, then what is the cost of the goods for X?

Ans X" 1 Rs 5400

#< 2. Rs 4500

o 3.Rs 5000

#< 4.Rs 4000

Question ID : 5459279587

Q.7 A gadget was bought at a discount of 25 percent on MRP and was sold for 10 percent
discount on MRP. What is the profit percentage?

Ans X" 1.35 percent
x 2. 30 percent
J 3. 20 percent
x 4. 25 percent

[ Question ID : 5459279592

Q.8 X bought a machine for Rs 10000 and Y bought it for 5 percent less. X sold the machine for
12000 and Y sold it for 15 percent more. How much more profit did Y make?

Ans X" 1 Rs 2100

75 2.Rs 2400




/< 3.Rs 1800
o 4. Rs 2300

Question ID : 5459279591

Q.9 A child gets 1 random coin out of Re 1, Rs 2 and Rs 5 coins daily. He starts on 1st April and
at the end of the month, he has coins in the ratio 5:4:6. Find the value of the coins with him.

Ans X" 1 Rs84

/5 2.Rs 94
/X 3.Rs 9
of 4 Rs86

Question ID : 5459279581

Q.10 What is the average of the cube root of the first 5 positive numbers having a perfect cube
root?

Ans X712
K 2.4
X 3.35
v

Question ID : 5459279585

Q.11 Find the LCM of 4/125, 7/100 and 2/25.

Ans x 1.15
X 2.1.04
3112
K412

Question ID : 5459279579

Q.12 Find the proportion equivalent to M:N:O:P if M:N = 8:15, N:O = 5:9 and O:P is 18:19?
Ans X" 1.16:30:51:57

/X 2.16:30:54:76
/X 3.16:28:54:57

o 4.16:30:54:57

Question ID : 5459279594

Q.13 A number 727X44 is divisible by 88. Find the value of X.

Ans X" 1.3
K24
X 3.2
W 41

Question ID : 5459279580




Q.14 What is the product of the digits of the smallest number exactly divisible by 6, 16, 22 and
28?

Ans X" 1. 486

W 2972
/X 3.1458
75 4.729

Question ID : 5459279583

Q.15 A number's square multiplied by 50 is exactly divisible by 40, 45, 50 and 60. Find the
minimum possible value of the number.

Ans X" 15
K 2.9
W36
X a8

Question ID : 5459279584

Q.16 A school has 400 students. The annual fees was increased by 50 percent. 20 students were
then offered a scholarship of 50 percent. By how much did the profits of the school
increase?

Ans X" 1.42.75 percent
x 2.44.75 percent
J 3. 46.25 percent

x 4. 45.25 percent

Question ID : 5459279593

Q.17 What is the sum of the digits of the smallest number divisible by 4, 14, 18 and 25?

Ans X" 118
2o
X 315
5412

Question ID : 5459279578

Q.18 X has a basic salary of Rs 10000. He earns commission 5 percent on sales above Rs 40000.
How much sales should he make to get a total pay of Rs 400007

Ans X" 1. Rs 560000
#< 2. Rs 600000
o 3.Rs 640000
#< 4.Rs 720000

[ Question ID : 5459279589

Q.19 X scored 52 percent in a test and failed by 15 marks. Y scored 62 percent in the same test
and passed by 35 marks. What is the passing score?

Ans X 1350

o 2275




/< 3.300
/X 4.250

Question ID : 5459279590

Q.20 A gym has 6 different bells for 6 different exercises which ring at the end of each exercise.
The duration of the exercises are 40, 45, 50, 60, 75 and 125 seconds. If the bells ring
together at 9 AM, then at what time next will they ring together?

Ans X" 1.11:40 AM
o 2.11:30 AM
75 3.10:30 AM
75 4.10:45 AM

Question ID : 5459279576

Section : Arithmetic Ability2

Q.1 The line chart shows the annual food grain production (in million tonnes) for years 2012-
2017. By how much has the average production in 2015-2017 has increased from the
average production in 2012-2014?

14000 -
s 12000 -
z 10000 - 12000
g A, 10000

6000 - 8000
3 aoco | 5000 %000
3
= 2000 - 3000
< 0

2012 2013 2014 2015 2016 2017
Year

Ans J 1. 100 percent
x 2. 25 percent

x 3. 50 percent
x 4. 66.67 percent

Question ID : 5459279614

Q.2 X can type 25 words in a minute and Y can type 30 words in a minute. If an essay of 550
words is to be typed, then in how much time will both of them finish the essay while typing
together?

Ans X" 1.2/5 hour

J 2.1/6 hour

x 3.1/3 hour
x 4.1/4 hour

Question ID : 5459279604




Q.3 The bar graph below shows the production of wheat (in tonnes) by a big farm over the years
2011-2018. In how many of the given years was the production of wheat less than the
previous year if the production in the year 2010 was 3000 tonnes?

- ]
=l
=]

2011 2012 2013 2014 2015 2016 2017 2018
Year

Ans X" 1.4
X 2.3
W35
X 46

Question ID : 5459279612

Q.4 A conical figure is reformed where the radius is increased by 20 percent and the height is
reduced by 20 percent. What is the change in the volume of the figure?

Ans  off 1,152 percent increase
x 2. 20 percent increase
x 3. 20 percent decrease

x 4.15.2 percent decrease

Question ID : 5459279608

Q.5 A shooter hits 2 targets at speeds of 750 km/h and 900 km/h. If the target is 100 m away,
what is the ratio of the time taken to hit the target?

Ans X197
o 265
X 379
75 4.56

Question ID : 5459279600

Q.6 X can complete 1/2 the task in 8 days and Y can complete 1/4th of the task in 16 days. In
how many days together can they finish the task?

Ans 1125
o 21238
X 3.132
X 4108

Question ID : 5459279605

Q.7 An investment opportunity offers 200 percent p.a. compound interest compounded




Ans

quarterly. What is the effective annual interest rate?
x 1. 200 percent

x 2. 506.25 percent
x 3. 250 percent

J 4. 406.25 percent

Question ID : 5459279599

Q.8 Two runners finish a 20 km marathon race in a difference of 30 mins. What is the winner's

Ans

speed if their speeds differ by 2 km/h?
75 1.12.5km/h

o 2. 10km/h
#< 3.5km/h

/X 4.8km/h

Question ID : 5459279602

Q.9 The pie chart shows the proportionate population of 7 districts. The 7 districts make up a

Ans

town. If the population of Districts B, D and E add upto 80,000, then what is the total
population of the other districts?

Population of Districts

75 1.80000
o 2.120000

75 3.100000
7% 4.160000

Question ID : 5459279610

Q.10 The pie chart shows the different kinds of expenses of a particular family for a month. If the

amount spent on electricity is Rs 2250, then what is the difference between the amounts
spent on Rent and Food? The numbers given in the pie chart are in proportion to the
expenses of the family.




Expenses of a Particular Family

Miscellaneous, 120

Shopping, 150

Education, 135

Electricity, 75

Food, 180

Ans X" 1 Rs 2700
#< 2. Rs 2400
75 3.Rs 1600

o 4. Rs 1800

Question ID : 5459279609

Q.11 The total surface area of a cylinder measures 2992 sq cm and the radius is 14 cm. Find the
height of the cylinder.

Ans  of 1 20cm

Question ID : 5459279606

Q.12 The following histogram shows the quantity of cement (in million kg) imported by India
from 2014-2018. What is the ratio of the number of years having less than average imports
to the number of years having more than average imports during the given period?

60000 55000 52500
50000
40000
30000
20000
10000
0

2014 2015 2016 2017 2018

Year
Ans X1 41

W 232
75 3.23




K 414

Question ID : 5459279613

Q.13 The table shows the various annual expenses of a firm (in '000s of rupees) from 2002-2006.
By how much is the average expenditure on Delivery is more than the average expenditure
on Interest?

Particulars

Year

Purchases | Wages Rent Interest Delivery
2002 62500 87500 | 100000 | 40000 | 40000
2003 75000 60000 85000 35000 | 45000
2004 100000 | 75000 90000 55000 | 55000
2005 110000 90000 50000 45000 | 55000
2006 125000 | 100000 70000 50000 | 75000

Ans X 1. 25 percent
x 2.10 percent
X 3.12.50 percent

J 4. 20 percent

Question ID : 5459279611

Q.14 A bank offers simple interest and a certain portion of the principal as bonus. A principal of
Rs 25000 amounted to Rs 30000 when the interest rate was 10 percent. What was the rate
of bonus?

Ans X" 1.20 percent
X 2. 15 percent
x 3. 25 percent
( 4. 10 percent

Question ID : 5459279597

Q.15 Find the total surface area of the cone if the radius and height of the cone measure 42 cm
and 56 cm respectively.

Ans  of 1 14784 sqcm
x 2.22176 sqcm
/< 3.11088 sqcm
X 4.7392 sqcm

Question ID : 5459279607

Q.16 X, Y and Z can complete a task in 240, 300 and 360 days respectively. In how many days
can the work be finished if it is started by X and he is assisted by Y and Z on every third and
second day respectively?

Ans X" 1132
X 2,144
/X 3.120




o 4150

Question ID : 5459279603

Q.17 If x/y = 5/8, then what is the value of 8x/5y?

Ans J1.1;1
K212
/X 314
X 415

Question ID : 5459279595

Q.18 A runner can complete a distance of 100 m in 15 seconds. If his speeds reduces by 1/5th,
then how much distance can he cover in the next 30 seconds?

Ans & 1.210m

X 2.175m
7% 3.200m
o 4160m

Question ID : 5459279601

Q.19 A number is 20 percent smaller than a second number. However, the second number now
increases by 20 percent with no change in the first number. What is the ratio of the two
numbers now?

Ans X" 132
X 2.53
X 3.35
o 423

Question ID : 5459279596

Q.20 A sum of Rs 12000 amounts to Rs 16000 in 3 years at the rate of simple interest. What is
the rate of interest?

Ans X" 1.8.00 percent
x 2.9.09 percent

( 3.11.11 percent
x 4.10.00 percent

Question ID : 5459279598

Section : General English1

Q.1 Select the word that fills in the blank correctly and completes the sentence meaningfully.

Vani's manager was doubtful her success.

Ans X" 1 at
x2.on
(3.01‘




/X 4.in

Question ID : 5459279630

Q.2 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully.

The lane which (connecting) the two cities is deserted.
Ans X" 1. No correction

X 2. has connecting
x 3. connected

J 4. connects

Question ID : 5459279624

Q.3 Select the word that fills in the blank correctly and completes the sentence meaningfully.

Harsh was in the army.
Ans ( 1. enlisted

x 2. endowed
X 3. engaged

x 4. eager

Question ID : 5459279632

Q.4 The questions below consist of a set of labelled parts of a sentence. Out of four options
given, select the most logical order of the parts which form a coherent sentence.

The city police

P : department reported

Q : of all petty crimes

R : go unreported

S : that approximately 80 percent

Ans X" 1 QSRP
o 2. Psar
/X 3.PRSQ
75 4.SQRP

Question ID : 5459279634

Q.5 Select the word that fills in the blank correctly and completes the sentence meaningfully.

Mahika jumped ____ from the bed.

Ans X 1 at
K 2.up
/X 3.in
o 4on

Question ID : 5459279629

Q.6 In the following statement, one part of the sentence may have an error. Find out which part
of the sentence has an error and click the button corresponding to it. If the sentence is free
from error, select the "No error" option.




(A) My friends moved/ (B) to a small house/ (C) at the sea./ (D) No error

Ans  of 1 C
5 2B
/X 3.D
X 4

Question ID : 5459279618

Q.7 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully.

The new manager is bound to (effect) positive changes in the office.
Ans X 1 is affecting

J 2. affect

x 3. have effecting

X 4. No correction

Question ID : 5459279621

Q.8 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully.

Prachi is the (most pretty) girl in the college.
Ans X" 1. most prettiest

x 2. No correction

( 3. prettiest

X 4. more pretty

Question ID : 5459279622

Q.9 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully.

Shamii is (best) than Chahal.
Ans X" 1. more good

J 2. better

X 3. No correction

x 4. good

Question ID : 5459279623

Q.10 Select the word that fills in the blank correctly and completes the sentence meaningfully.

Shamita is absorbed ____ reading.

Ans X1 at
X 2.0n
XS.to
o 4in

Question ID : 5459279628




Q.11 Select the word that fills in the blank correctly and completes the sentence meaningfully.

Rakhi was content her gifts.

Ans X1 at
/X 2.0n
o 3. with
X 410

Question ID : 5459279627

Q.12 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully.

(Though) of the hardwork, Harsh could not succeed.
Ans X" 1. Although

x 2. No correction

/5 3. with
“ 4. Inspite

Question ID : 5459279620

Q.13 In the following statement, one part of the sentence may have an error. Find out which part
of the sentence has an error and click the button corresponding to it. If the sentence is free
from error, select the "No error" option.

(A) They wanted to/ (B) build a new / (C) shed in the garden./ (D) No error

Ans X 1B
K2
o 3D
Xac

Question ID : 5459279615

Q.14 The questions below consist of a set of labelled parts of a sentence. Out of four options
given, select the most logical order of the parts which form a coherent sentence.

It has been

P : has a detrimental

Q : found that the

R : effect on the ozone layer
S : use of body spray

Ans X" 1 SPQR
o 2. asPr
/5 3.RsQP
#< 4.PQSR

Question ID : 5459279633

Q.15 In the following statement, one part of the sentence may have an error. Find out which part
of the sentence has an error and click the button corresponding to it. If the sentence is free
from error, select the "No error" option.

(A) Their meeting/ (B) lasted for/ (C) almost a hour./ (D) No error

Ans 1D




X 2.A
/X 3B
Wic

Question ID : 5459279616

Q.16 In the following statement, one part of the sentence may have an error. Find out which part
of the sentence has an error and click the button corresponding to it. If the sentence is free
from error, select the "No error” option.

(A) One of the colleague/ (B) was unsure/ (C) about the plan of action./ (D) No error

Ans X1_D
X 2.8
o 3A
X ac

Question ID : 5459279619

Q.17 In the following statement, one part of the sentence may have an error. Find out which part
of the sentence has an error and click the button corresponding to it. If the sentence is free
from error, select the "No error” option.

(A) Many cafes/ (B) serve complimentary/ (C) mocktail with the meal./ (D) No error

Ans X7 1A
o 2.0
/X 3B
X ac

Question ID : 5459279617

Q.18 Select the word that fills in the blank correctly and completes the sentence meaningfully.

Veena was to bed with fever.
Ans X" 1. sticking

X 2. attached

( 3. confined
X 4. lying

Question ID : 5459279625

Q.19 Select the word that fills in the blank correctly and completes the sentence meaningfully.

Sakshi one son and one daughter.
Ans X' 1 have

K 2is
J 3. has
X 4. are

Question ID : 5459279626

Q.20 Select the word that fills in the blank correctly and completes the sentence meaningfully.




The manager thought that Vikash fail.

Ans X1 will
/5 2.should
x 3. must
o 4 would

Question ID : 5459279631

Section : General English2

Q.1 Select the option that best expresses the meaning of the idiom or phrase given below.

To turn the cover

Ans J 1. To pass the crisis
x 2. To be quick
x 3. To stop talking and start

x 4. To keep out of debt

Question ID : 5459279645

Q.2 Select the word that is opposite in meaning ANTONYM to the word given below.

ADJUNCT
Ans & 1. Added

x 2. Fortune

J 3. Subtracted

x 4. Forgive

Question ID : 5459279638

Q.3 Select the most appropriate ‘one word ' for the expressions given below.

A collection of weapons and military equipment
Ans X" 1. Archives

J 2. Arsenal
x 3. Arena
X 4. Creche

Question ID : 5459279649

Q.4 Select the most appropriate ‘one word ' for the expressions given below.

A strong and fast-moving stream of water or other liquid
Ans J 1. Torrent

x 2. Posse
X 3. Hamlet
x 4. Current

[ Question ID : 5459279648




Q.5 Select the option that best expresses the meaning of the idiom or phrase given below.

To strike one's colours
Ans X 1. To listen carefully

x 2. To make a guess
« 3. To surrender

x 4. To be victorious

Question ID : 5459279646

Q.6 The sentences of a paragraph have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these sentences should be rearranged to
form a meaningful paragraph.

The breadth of experimentation must be related to the degree of unknowability that
confronts the firm.

P : But the goal is not just to develop perfect strategies that take us in the right direction
and then, progressively refine them by rapid experimentation and adjustment.

Q : The more the experimentation, the faster a company can understand precisely which
strategies are likely to work.

R : We should spend less time working on strategy as a thing and more time working to
understand the secret preconditions that give rise to it.

S : The best way to create wealth for employees and stockholders is to renew our
commitment to developing and executing innovative strategies.

Science is closing in on the deep secrets of our life; we must redouble our efforts to close in
on the deep secrets of corporate vitality.

Ans X" 1 PQRS
o 2 asPr
/5 3.SQPR
/5 4.RsQP

Question ID : 5459279635

Q.7 Select the word that is closest in meaning SYNONYM to the word given below.

ABATE
Ans X 1. Increase

75 2. Flexible

« 3. Decrease

x 4. Approve

Question ID : 5459279636

Q.8 Select the most appropriate ‘one word ' for the expressions given below.

A person appointed by two parties to solve a dispute
Ans X" 1. Ascetic

« 2. Arbitrator
X 3. Atheist

x 4. Amateur

Question ID : 5459279647

Q.9 Select the word that is opposite in meaning ANTONYM to the word given below.




EFFACE
Ans J 1. Maintain

x 2. Uncertain

x 3. Cease

x 4. Destroy

Question ID : 5459279639

Q.10 Select the word that is closest in meaning SYNONYM to the word given below.

PERTURB
Ans X 1. Smart

J 2. Worry
75 3. Fixed
X 4. Happy

Question ID : 5459279637

Q.11 Select the option that best expresses the meaning of the idiom or phrase given below.

To accept the gauntlet
Ans X" 1.To be furious

x 2. To take reckless risks

x 3. To try hard

“ 4. To accept or respond to a challenge

Question ID : 5459279644

Q.12 Select the word that is opposite in meaning ANTONYM to the word given below.

DEFILE
Ans X" 1 Smart

( 2. Purify
x 3. Spend

x 4. Contaminate

Question ID : 5459279640

Q.13 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans X" 1. Luminiscene
x 2. Luminescine
x 3. Luminesense

“ 4. Luminescence

Question ID : 5459279643

Q.14 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.




Ans X" 1. Acomodation
«Z.Accommodation
x 3. Accomodation

X 4. Acommodation

Question ID : 5459279641

Q.15 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans X" 1 Gulliotine
x 2. Guilotine
x 3. Guliotine

« 4. Guillotine

Question ID : 5459279642

Comprehension:
Read the passage carefully and answer the given questions.

Miss Martha Meacham kept the little bakery on the corner (the one where you go up three
steps, and the bell tinkles when you open the door). Miss Martha was forty, her bank-book
showed a credit of two thousand dollars, and she possessed two false teeth and a
sympathetic heart. Many people have married whose chances to do so were much inferior to
Miss Martha's.

Two or three times a week a customer came in whom she began to take an interest. He was a
middle-aged man, wearing spectacles and a brown beard trimmed to a careful point. He
spoke English with a strong German accent. His clothes were worn and darned in places, and
wrinkled and baggy in others. But he looked neat, and had very good manners. He always
bought two loaves of stale bread. Fresh bread was five cents a loaf. Stale ones were two for
five. Never did he call for anything but stale bread. Once, Miss Martha saw a red and brown
stain on his fingers. She was sure then that he was an artist and very poor. No doubt he lived
in a garret, where he painted pictures and ate stale bread and thought of the good things to
eat in Miss Martha's bakery. Often when Miss Martha sat down to her chops and light rolls
and jam and tea she would sigh, and wish that the gentle-mannered artist might share her
tasty meal instead of eating his dry crust in that draughty attic. Miss Martha's heart, as you
have been told, was a sympathetic one.

SubQuestion No : 16
Q.16 Why did the customer buy stale bread?

Ans X" 1. He used to buy them for his dog.
X 2. He loved the taste of it.
x 3. He was an artist and artists preferred stale bread

« 4. He was poor and stale breads were cheaper.

Question ID : 5459279655

Comprehension:
Read the passage carefully and answer the given questions.

Miss Martha Meacham kept the little bakery on the corner (the one where you go up three
steps, and the bell tinkles when you open the door). Miss Martha was forty, her bank-book
showed a credit of two thousand dollars, and she possessed two false teeth and a
sympathetic heart. Many people have married whose chances to do so were much inferior to
Miss Martha's.

Two or three times a week a customer came in whom she began to take an interest. He was a
middle-aged man, wearing spectacles and a brown beard trimmed to a careful point. He
spoke English with a strong German accent. His clothes were worn and darned in places, and
wrinkled and baggy in others. But he looked neat, and had very good manners. He always




bought two loaves of stale bread. Fresh bread was five cents a loaf. Stale ones were two for
five. Never did he call for anything but stale bread. Once, Miss Martha saw a red and brown
stain on his fingers. She was sure then that he was an artist and very poor. No doubt he lived
in a garret, where he painted pictures and ate stale bread and thought of the good things to
eat in Miss Martha's bakery. Often when Miss Martha sat down to her chops and light rolls
and jam and tea she would sigh, and wish that the gentle-mannered artist might share her
tasty meal instead of eating his dry crust in that draughty attic. Miss Martha's heart, as you
have been told, was a sympathetic one.

SubQuestion No : 17
Q.17 The customer who came two or three times a week had a strong accent.

Ans 3" 1 Chinese

x 2. Indian
x 3. French
\f4. German

[ Question ID : 5459279653

Comprehension:

Read the passage carefully and answer the given questions.

Miss Martha Meacham kept the little bakery on the corner (the one where you go up three
steps, and the bell tinkles when you open the door). Miss Martha was forty, her bank-book
showed a credit of two thousand dollars, and she possessed two false teeth and a
sympathetic heart. Many people have married whose chances to do so were much inferior to
Miss Martha's.

Two or three times a week a customer came in whom she began to take an interest. He was a
middle-aged man, wearing spectacles and a brown beard trimmed to a careful point. He
spoke English with a strong German accent. His clothes were worn and darned in places, and
wrinkled and baggy in others. But he looked neat, and had very good manners. He always
bought two loaves of stale bread. Fresh bread was five cents a loaf. Stale ones were two for
five. Never did he call for anything but stale bread. Once, Miss Martha saw a red and brown
stain on his fingers. She was sure then that he was an artist and very poor. No doubt he lived
in a garret, where he painted pictures and ate stale bread and thought of the good things to
eat in Miss Martha's bakery. Often when Miss Martha sat down to her chops and light rolls
and jam and tea she would sigh, and wish that the gentle-mannered artist might share her
tasty meal instead of eating his dry crust in that draughty attic. Miss Martha's heart, as you
have been told, was a sympathetic one.

SubQuestion No : 18
Q.18 What was the price of the stale bread?

Ans o 1. Two for five
x 2. Five for one
K 3. Three for five
x 4. Six for two

Question ID : 5459279654

Comprehension:
Read the passage carefully and answer the given questions.

Miss Martha Meacham kept the little bakery on the corner (the one where you go up three
steps, and the bell tinkles when you open the door). Miss Martha was forty, her bank-book
showed a credit of two thousand dollars, and she possessed two false teeth and a
sympathetic heart. Many people have married whose chances to do so were much inferior to
Miss Martha's.

Two or three times a week a customer came in whom she began to take an interest. He was a
middle-aged man, wearing spectacles and a brown beard trimmed to a careful point. He
spoke English with a strong German accent. His clothes were worn and darned in places, and
wrinkled and baggy in others. But he looked neat, and had very good manners. He always
bought two loaves of stale bread. Fresh bread was five cents a loaf. Stale ones were two for
five. Never did he call for anything but stale bread. Once, Miss Martha saw a red and brown
stain on his fingers. She was sure then that he was an artist and very poor. No doubt he lived




in a garret, where he painted pictures and ate stale bread and thought of the good things to
eat in Miss Martha's bakery. Often when Miss Martha sat down to her chops and light rolls
and jam and tea she would sigh, and wish that the gentle-mannered artist might share her

tasty meal instead of eating his dry crust in that draughty attic. Miss Martha's heart, as you
have been told, was a sympathetic one.

SubQuestion No : 19
Q.19 Which among the following statements are not true about Miss Martha?

Ans 3" 1.She owned a little bakery
( 2. Her bank-book showed a credit of one thousand dollars
x 3. She possessed two false teeth
X 4. She had a sympathetic heart

Question ID : 5459279652

Comprehension:
Read the passage carefully and answer the given questions.

Miss Martha Meacham kept the little bakery on the corner (the one where you go up three
steps, and the bell tinkles when you open the door). Miss Martha was forty, her bank-book
showed a credit of two thousand dollars, and she possessed two false teeth and a
sympathetic heart. Many people have married whose chances to do so were much inferior to
Miss Martha's.

Two or three times a week a customer came in whom she began to take an interest. He was a
middle-aged man, wearing spectacles and a brown beard trimmed to a careful point. He
spoke English with a strong German accent. His clothes were worn and darned in places, and
wrinkled and baggy in others. But he looked neat, and had very good manners. He always
bought two loaves of stale bread. Fresh bread was five cents a loaf. Stale ones were two for
five. Never did he call for anything but stale bread. Once, Miss Martha saw a red and brown
stain on his fingers. She was sure then that he was an artist and very poor. No doubt he lived
in a garret, where he painted pictures and ate stale bread and thought of the good things to
eat in Miss Martha's bakery. Often when Miss Martha sat down to her chops and light rolls
and jam and tea she would sigh, and wish that the gentle-mannered artist might share her
tasty meal instead of eating his dry crust in that draughty attic. Miss Martha's heart, as you
have been told, was a sympathetic one.

SubQuestion No : 20
Q.20 Miss Martha was years old.

Ans x 1. thirty-five

x 2. thirty
X 3 fifty
( 4. forty

Question ID : 5459279651

Section : General Hindi1

Q.1 A=l v d, ar faseal & 9, 39 fase o1 a7 &R o1t wius 7 Ry 71 25 & gar o=
UEY drach - T Tgl faehed gl

Ans X1 (gH) S
W 2. (3 e oft o g
/X 3. () 3 sga W RRaT &1
X 4 (F)ydrsmigl

Question ID : 5459279675




Q.2 fa=fafEd usr &, 9rR fAereul d @, 39 ey o1 a9 & St 2 710 2reg & faeiy e o1 98t
famea g1

iy
Ans X1 aiffiar
o 2 Prifaw
75 3. anfw
X 4. afea

Question ID : 5459279664

Q.3 fA=fafEa usr &, ar Rereul d @, 39 ey o1 9g= o St 2 7o 2reg a1 Shfenr ersg arer
farerea 81

&
Ans XTE{@
W 2.7
K 3T
X 4R

Question ID : 5459279672

Q.4 FafafEa us 8, ar el § 9, 39 ey o1 99+ o 51t g 7 arerier & g g o5 w1
Tl Reea g1

sifafeya shfaesr aren
Ans  of 1 sy
75 2. srewr

/X 3. @
/X 4. gy

Question ID : 5459279666

Q.5 fAm=fafae v d, ar faeeal & 9, 39 fasea o1 ag7 &R St g 2 1 T Qe g1
Ans X-IW

75 2. ggwiag

/X 3. wggamEg

o 4 sEoETg

Question ID : 5459279670

Q.6 Al v A, ar faseal & 9, 39 fase o1 ag7 R i Tygarae G371 o1 g Reea 81
Ans X1

75 2. g

o 3 T

75 4 urh

Question ID : 5459279658




Q.7 fA=fafEd usr &, 9r fAereul d @, 39 98 ey &1 997 2 St s TuE & o sfRa fawmea
g

ag g Agdt et g1
Ans XLW
W 25w
/< 3.7z

X 4. gy

Question ID : 5459279667

Q.8 f=fafad us &, ar feeal & /, 39 A o1 oa9 &2 51t Ry 7Y 2ree & gumEneff 21 a1
fasrea gt 21

geft
Ans  of 1 iftma
X 2. Feum
X 3958
X 4w

Question ID : 5459279668

Q.9 fa=fafle vsr d, ar faseal & 9, 39 fasea o1 ag7 &R w1t FivE 7 Ry 79 25 & sgar
fasiwor & A< arer faeeu gt

(2r=T) arer et i & S
Ans X" 1 deemarae
X 2. wdfae
/X 3. oS
o 4. ofwmoaTe

Question ID : 5459279660

Q.10 f=fafaa us &, aR faweal d @, 39 faeea 1 999 w1 st 2y 1¢ 21ee & vafgar e &1
g e gl 21

3R
Ans X 1 g
X 2R
o 3 @R

X 4.

Question ID : 5459279661

Q.11 fA=fafE@d uy 7, ar Reeal A @, 39 RAerea o1 997 & it Ry 717 2reg & vafgarh 2ree
8 e A 21

T
Ans X" 1. sreetie
W 2. e

/X 3. argefie




75 4w

Question ID : 5459279662

Q.12 f=afaf@a usr #, ar Rl 7 |, 39 T8 Rereu o1 a9 & it R T & forg Suges ereg o
gl e g1

3T o g fAae g
Ans X1
o 2.4
K 3w
P

Question ID : 5459279669

Q.13 f=faf@d usr 7, aR Rereal 7 |, 39 Tt faoreu o1 ag9 & St g 719 2rsg-gva & orf o1 @l
faerea gl

3Ty-araee
Ans o 1.t oiR st
/X 2. sasaeRar 3R srreE
75 3. Teirg SR sirefar
/X 4. R TeTe

Question ID : 5459279665

Q.14 fR=fafaq usn d aR faeweal § @, 39 frereu &1 =9+ &2 5t iy o 98 d@fer fa=de M wfar ar
T e gt

SIGT + 3
Ans X1 g
5 2. sgrae
\f&%@ﬁ'c:

X 4w

Question ID : 5459279656

Q.15 fA=faf@a us d, ar faweal d |, 39 fAeea &1 997 R St T Yehaa Ak 6l IO 1=ST
faerea 21

Ans X‘]_a{sg
X 2.am
o 3 o

75 4. anfiafe

Question ID : 5459279673

Q.16 f=faf@d usr &, aR Rl 7 |, 39 Reu &1 99 ) it 9e1 giceiT arer 2reg g1
Ans X1 el
o 2




75 3. 3wt
/X 4 afts

Question ID : 5459279671

Q.17 f=fafaa us 7, aR faweal 7 @, 39 fAeea o1 9a= w1 5t e 70 2rez & iy = @ 9t
faerea 81

LE IS
Ans X 1 fEror
75 2 zgm
3. faf
X 4.5

Question ID : 5459279663

Q.18 fFr=fafee ust A, IR Riereal 7 §, 39 frerea o1 oa= & St RQ 1Y 2ree & aga= e 1 9o
arest faened g1

e
Ans X" 1 merait
o 2 g
ZX 3. e
X 4.mm

Question ID : 5459279674

Q.19 fA=fafad s &, AR Rl 7 |, 39 e &1 wg= &2 it Ry 71 21es & T i) fawde o
farerea g

Srforepiar
Ans X 1. 3ifd + cher
X 2. 3+ iy
75 3. 3ifdre + srist
(4.arf€roﬁ+a¢a1

Question ID : 5459279657

Q.20 F=ifafEa usr #, 9R el 7 |, 39 fereu o1 999 R Sit ise d Ry 1 2reg & ogar
T & N &1 ) famea gl

(SM) 3resT T HIJ (at) GRERR TG
Ans  off 1. weisraras wdm
75 2. afigaraes gdam
/X 3. R areres wdamm
75 4. usgaraeh g

Question ID : 5459279659




Section : General Hindi2

Q.1

Ans

= et | @ RdngaR ar= uRed= @ faeea gl
A feeett =11 T @ (aFfar=a)

25 1. A Rt

of 2. e g Reeeht s S <aT 8

X 3. el w21 2

75 4. Rty mrereht

Question ID : 5459279679

Q.2

Ans

fr=fef@d usr 7, aR Rereal 7 &/, 39 faevea &1 og= &R S1t g 71q area & forg g & dg &
a9 o<t e g1

T IR 8 gopT 81
75 1. widharef
of 2. Fvapmef
75 3. g
X 4. Remd

Question ID : 5459279677

Q.3

Ans

fr=fafad s &, IR et & @, 39 faereq o1 wa= &< Sit R 71 are & fAg uar & 9 &
a9 331 A g1

319 "fsorat awdt g wft
X 1. Preameias
W 2. srorias
/X 3. TSty
75 4.y

Question ID : 5459279678

Q.4

Ans

fr=faf@a s &, =R Rt § @, 39 frerea o1 wa= R Sit Y 71¢ are & et & A o1 9dl
faerea g

Sar A DR a9
K 1. 3R T
K 2. 3R v e
W 3. oo s
#X 4. orgof gt

Question ID : 5459279676

Q.5

Ans

frafafEa uy 7 =R fereul 7 @, 39 fRrerea o1 == &3 St Gl arerr 9e o1 e gl

el gH Sela SITda |
F RCEE T

/X 2. Ggehar




/X 3. Prdearae ae

W & waa

Question ID : 5459279680

Q.6 F=faf@a us &, ar faereal & @, 39 e &1 Ta9 FR 51t 9 arerm A &1 fadme gl

i AETd AT &, I€ T HS UT ThelT 21
Ans X" 1. s A
/X 2. Thaaras ate
W 3. P
/X 4. Hgarae ae

Question ID : 5459279681

Q.7 fa=fafEd s &, ar faerel 3 @, 39 fehreq o1 wa= &3 Sit &) 1S dlenif=h & fog It oref aren
farea 81

m it i @
Ans X" 1. ared & Gy ST
75 2. st g
o 3. R = @ Rofy s
X4.aﬁ3?r€—n‘q

Question ID : 5459279688

Q.8 f=faf@d us &, arR faereul & @, 39 faereu =1 Ta= R i TE arer A &1 fahea gl
&ur A 3@ Iga g1 W ag el e

Ans X 1. RerraTee e
5 2w A
/X 3. Ry g

4. < A

Question ID : 5459279682

Q.9 fmfafae v d, ar faeeal & 9, 39 fasey o1 ag= & w1t R Rig g=F area @1 a8 e
gl

Ans x 1. Qe ggt off ur? Tig Ueh 6l aoig d Vel el G
£X 2. Qe at g2 off o, "IRg Ueh i aeTg & et T8 Ghl”
of 3. Qe At g oft o, wRg e Y aoTe @ Bt T T
75 4. T ot w2 oft o O Uk B T @ Bl e T

Question ID : 5459279683

Q.10 f=faf@d usr &, aR Rl 7 |, 39 Reu &1 799 o sit Ry 7 ggrer & o agl oref aren
fasrea &1

3 & 918 g
Ans X" 1 gier e S




25 2. Rl G e et
o 3 Ffag
75 4. arER S

Question ID : 5459279687

Q.11 f=faf@d us &, aR Rl 7 |, 39 Rieu &1 799 o sit Ry 70 ggrer & o agt oref aren
faemrea &1

St gerger
Ans X‘I.tﬂ@m
/X 2. gt g
J&a{fh"cmg[@aﬂm
X s

Question ID : 5459279686

Q.12 F=fafEa usr §, 9R el 7 |, 39 Rereu &1 99 & St Ry 71¢ gerer & g a8t o aren
fasmea 1

Siepar Tl
Ans ( 1. o § TE
/X 2. g
/X 3. Rrenfda g
75 4. iR

Question ID : 5459279685

Q.13 fA=fafad us &, TR Rereal d @, 39 9t faerea &1 wg= &2 5t € 71 tenifes & forg T orf
arett faerea 81

dieft arfe R g
Ans o 1. it et T, S g T ARy
X 2. g oft geran Tt
/X 3. TaR o ST
75 4. et @ oft arga 7 ehet

Question ID : 5459279690

Q.14 fr=faf@a usr & ar fRereul § @, 39 fRrereu &1 o &3 it &) 7 eAtepifer & forg @ eref aren
farea g1

ATT =T TS o T
Ans X' 1 erar € ol g @
25 2. 3ifreh uRerm &m et
W 3. st eafs e fearan awa &

#< 4. g g

[ Question ID : 5459279689




Q.15 f=faf@d usr &, aR Rl 7 |, 39 Reu &1 999 R sit favm Rig g+ are &1 9 e
gl

Ans X' 1 ag sroRie 82 R oft, 3 et T et
/X 2. 98 e R o, 3@ gt et eh?
75 3. 7 sroRieh 81 R of, 3@ o et e
o 4. 75 sroRreft R R oft, 3@ o e et

Question ID : 5459279684

Comprehension:

2 g w2 iRt e des ug ofR U T FataH IR |

IR g2i Rardn § o Sfa o s ofiR @189 8, I 3711 Y WieT gART &1 & SR 8id # 39
&Y ! UT & T gHRT [ 31fdepR &1 59 UhR &= a8 & ST foh 31121 ohl Igifed e chl ahifRIer
T & SR STET ek I8 THH et e} 8, 98 39 987 e SRR §1 ol Tfehar v 8, Gt et
IR Tg 18 a1 &2 39 3 § garef Y vty ag & e a1 &1, Sharet ST 181 §, aifcen St o sier 8t
ST &1 59 U H S T 82 1] S 8, R 390 U 8- | S sirenn g 8, 7gf 9ok fh
goref TR off e &1 g <2 €1 & St 3 RS hwar & o srorft fen @ 39 39 o= @ e R &,
Sit T 22 el g1 T 39 YR Ueh 21=ifeh g1 ek slifgeh SITae el -1, afceh Ueh 1f<hue
SR TR =1 8, HiTch T & @ISt A 711 g Hat arxff-es ot 3o Sfa &t 39 TR SraRd &
TSdT & difch 39 Turef @ UehIahR gt STT¢ fSI a8 WieT 38T & | arqd 3, Tet Sita ol TehdT gt AT § ik
goft asffent ot € e, afces Toft agsat ol 3TeRT UTe AT T B, Rilfes Ioft At & @i ok
[ERICRE I

SubQuestion No : 16
Q.16 3T A & - AT 1A AU hT TATGaT= AE TS} 87?

Ans & 1 sifdmmm
X 2. ard
X 3%

W 4 @R

Question ID : 5459279695

Comprehension:

A1 few 2 Trerier Sl eaTYden U SR U 1 HatH SR g |

R =i Rarar & b Sfia ger S ofk e 8, 3T 3711 dhl GieT gHRT &Tfied g 3fiR ofd & 39
ALY ot UT R AT §HART AW YRR &1 39 UhR &2 ag & St foh My ot IgIfed aet Y ahifRrer
AT & 3R STET dIoh I 3TH Tthetd AeTd &, T8 39 e dch IUTR B Y Ufehar awar 8, pef At
IR gg @18y a1 8§72 59 31 & guref it wif a5 & s ur &1, haet ST 7181 &, afesh 34t a1 sivr gt
ST &1 39 SUCIfedl | ameT &7 82 STeTd &8 8, TR 98 Wi &~ | S1fRiféra S1rer 81 , 7l adh foh
gursf TR ot 16T §1 75 <2 81 & S 39 RAfEd var & o srort fRen @ 39 39 o § gtk e g,
S gt 32 T8I g &dTI T UehR Udh GIRieh BT Ueh difegeh ST eheT Agl, dfceh Ueh QRAUG
SR R Tl &, HiTch T & @isT # o1 g Tat arxff<es ot 310 Sfae &t 39 TR SraRd e
Ugar g T 39 aurdf & UhTehR 8 Sy S8 ag @ist 281 81 ar%ad #, T8t Sfia= o1 gepars agt 7nf & ok
oft greifarenl ot &t 78, afes Tt mgsal ol g5enT uTer T giar 8, il Tt e & e ofik
fafd g €1 €)1

SubQuestion No : 17
Q.17 39 3= &1 I Jugh 2fde:
Ans X 1. 99 hr @

75 2. arsifieman
o 3 e

P R

Question ID : 5459279696




Comprehension:

2 few 7 wreriar @l eaTgden ug ofR U T wataH SR |

IR g1 Rxarar § fob S ge snerg ofk 8T &, 3T 371 &l @IS gART &1fiied & 3fR oid # 39
ALY Y UT R T §HRT AT MfARR § 1 59 UhR &= ag & St foh 1 ot I aeat Y ahifer
AT & SR T8l dch I T9H GherdT (Al 8, TE 3T 183 deh TR i I UTchdT ShedT &, Pl eI
IR Tg 187 a1 82 59 3 § gunef Y oifey a8 & fOwd ur &, Sharet ST 781 §, aifces St ot sisr 8t
ST &1 59 ST | ST T 82 1Ty RS 8, TR 38 U &-3re | ififera st g 8, wet de R
T TR ot 781 g1 I8 a2 &Y & St I AT a1 & 3R Sruet fRrer & I8 39 o= 9§ gk e g,
St el &= 8T 819 311 39 TR Tk S1RifAh BT Ueh Sifegen ST et A8, dfceh en 1Rha
ST TR A1 8, Fleh T i @I H 711 gy Fel Z1ffeh al 3R Sfia i §6 TR STaRd st
USdT g difch 39 gurf ¥ TR gt STY fOI ag Wiel 38T & | ardd 8, Tgt St ol TehHT et AFf § 8k
ot areffrent ot &t 78T, afees Toft A o, STeRT UTeH AT BT B, Rilfeh Toft A o @RI iR
fafd ge g1 81

SubQuestion No : 18
Q.18 uRg g2 fohe 1eq Y 3R Teha &raT 87

Ans X" 1 T & 1Y YRTR & ST
25 2. gurd Hr e wR A
75 3. Rfeya g wmn
o 4. <fiem &1 g e ok g eT &

Question ID : 5459279692

Comprehension:

2 few T wreriRr @l eagden ug ofR U T HataH SR I

IR g Rarar & 1o Shiaw uep serg ik @18y 8, I SN &Y Wil gART &1 § ofiR ofd & 39
ALY Y UT R T §HRT AT MfAAR &1 59 UhR &= a8 & St foh ST vt I et o ahifRuer
AT & 3R BT deh I SHH FoheldT e 8, I8 T A8 dch SRR i &l Ufehal shedl 8, Toel [Heient
SRR g 7187 T 82 39 orf & geref Y mift a8 & S o1 @1, Shaet ST 181 8, afces St o sisr &t
ST &1 59 U & ST T 82 1T hs 8, UR 398 WA &-319 | Afiferd siteAr g 8, 7gt doh fh
goTef TR ot T8 g1 I8 a2 & & St I AT A & 3R Sruet 18 & I 39 o1 ¥ Jfh e g,
St Fraref &= T8 819 3aTI 39 TR Teh S1RifAeh ST Ueh Sifegen SITHH el g, dfceh en 1RhvG
ST TR T &, Fleh T i @It H 711 gy [l Snffeh al 370 Sfia aht §6 TR STaRd shem
TSdT g difch 39 guref ¥ TR gt STY fOI ag WieT 38T & | ard 3, Tgt St ol TehdT et AFf § 8k
it areffrent ot 6t 8T, afees Toft A ol STeRT UTeH AT BT 8, Rilfeh Toft A o @RI iR
Fafaur & &

SubQuestion No : 19
Q.19 Sfiaq T YehAT I AT 82

Ans X 1 fRifgrd g
X 2. e SrgrH e
/X 3. 3 @ g g
o 4. aifRhue srgRmEr o) Te

Question ID : 5459279694

Comprehension:

= few T wreriRr @t eagdes ug ofR U T wataH SR |

IR i Rarar & o Shaw uep orerg iR ey 8, I SN &hY Wil gART &1 § ofiR ofd & 39
&Y ol UT & T gHRT fAAW S1fdpR &1 59 UahR &= a8 & S foh 312 ohl Igifed e <ht ahifrer
AT § 3R STg1 Ieh I FHH FherdT [Heldl! 5, I8 38 7187 deh SAUTR G617 <hl UfehdT el 8, et AeTrehy
IR Tg 7187 o1 §2 39 o1 & goref Y mift a5 & S o1 @1, dhaet ST 181 8, afces St o1 sisT gt
ST 1 39 U & aTeT T 87 TS 3 &, U 30 WRE 2-ora | iffée sirewm 8 8, g8t ae iR
gt FOR off 7E 81 98 30 €1 & St I8 FAfET e & ok Sroeft e & 3§ 39 o @ itk Remar g,
St Fraref < T8 819 311 39 TR Tk S1RifAieR g1 Ueh Sifgen SIiee et A8, afcsh e 1fkhva




Q.20

Ans

ST TR T &, Fleh T &l @It # 711 gy Tl anffeh l 3R Sfiee &l $6 TR STaRd s
ST g difeh 39 guref ¥ TR gt S¢S ag WieT 38T & | ardd 8, Tg! St ol TehdT et AFf § 8k
goft arsffent Y € e, afees Toft At ohl, 3TeRT UTe AT g &, Rilfes Toft At & @i ik
fata gan € €1

SubQuestion No : 20
&Y YT et § TRE ate o @2

P RS
W 2 s e
/< 3. Rifga g
X 4. SrRTEE

Question ID : 5459279693






